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B2t (non response)

|22 (unit nonresponse)

SIS 2Lt (item nonresponse)
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2. 7I=X|

o|o|Q} Ak

o XHA7IS

1 Bkl o|F=EH

87 Alsl2t &2

: 100H 3|ALA

20
100

20
Y =2Wi3’i =ZE'3’1‘
i=1 i=1

4 HZH|E S3FEH : H| S22 2EE 7
> 4 S0M 2R ®#Z39]: N, 2 ny,
> S EZHIESHIEEEE : n, =n-N,/N
> BEAFIY: V=21 X0 Wiyvn =

& 20 SRS=E

FE =02
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D03
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2. JKS%| ojn|Q} HA

o XIHI7ISAA Al AH(AZ)
2 37|, H|H|&=ESH(PPS : probability proportionate to size sampling)
> A EARRE FAE AIGIAM o 7] ZAIRE 717 7| E SHEHEIFEY F£2 MEE ZA0IM

b 717t tHEFEE MYt T IR 2E 713 =AL

> § ZAFRUS] 71 £2 5, 2181 PPS 1EIRS0IM o ) ZAFTS| FHUBES o 2 02
QEASZOIM MBS XA I—T‘LHOIIHNI-TWIEF- gEe o
> HYE EESZEE:f-f f-a o Lo_2 -1

A A
Zl 1 Bl Bl Zi=1 Bi N
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EE2==E(sampling fraction)

o
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n/N (2 &

£k|= F=sthel2| H|= 20|, f

K+

#APtH S

HE27I=X|(sample weight)
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2. JKS%| ojn|Q} HA

o EZIS%|2 7|=JHE

- ESIISA= EESTH 2| 23t 2HEEl =X[F2 SHE S20|H E=2= FEE
Er2l7t 2EIEHS L0k} CHESI=T 5t= 3712 LIEHH THE

- BEEX0 EFEE HE¥(adjustment) Sl= H

- HIEZIISZXI(the unadjusted weight: 7|2714)
> ZHEICER| ot FERIE HZGIFES MEEE| A

EEZFE5E0] p,2 NEEZER = 2E[E ALE 1/p; BHE CHESIH, 24 Al JHE E=

ERIOICE w; = 1/p;HH2| 71SXIE F0{siCl= 2|0]

> 7|12 715%l(base weight): FE82| H2 AlM, w = N/n(BH=gEFE2 )

[&3] 7152l & = RECHe| 7 |(LBH=EQI A=)
> ESTEx B

(ol) ====0[ 1/2021 E=EH

rr

«X|CHO|A] SHEHEES] 207HE CHE (represent)= L 11 818t 4= Q)

.



2. 71=%| 2|Oje} A|2t

o 7IEX|E F0{5l= O0l+&
(unequal selection probability)2 E&5}7| S5l

- =S MEESE
- B22tl(non-response)2 EA35}7| 25l
- BEICHA o]0] 22X QU= S Wl BE (o - M, o e IS E=HDC| BEE
2UX|AIZ17] fIsH =™ 5= Hix|Ol2 (benchmarking)/ AlE S8} (post-stratification) 23
> B TR HE=E SaA1717] Ssh
> S2Ch U O|Z&H(non-coverage) EEFEES EX517| 25l
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2. JKS%| ojn|Q} HA

> HISMEN 212 (varying selection probabilities, BERSESEE)
> Z3}(stratification)

> FletEE(cluster sampling)

(&3] sStEE=A=2| B4 Al 122{sl0} &t ALt

> J|=Erfle] F£EES0| CIE 32 71S5%E Hgsi0 F=Hollof HE0| HHE £ US
(MESAEA a7 |X] AlgoHOF °‘)

[30] SHESS(EPSEM)QI ZRE Yskxiol SHTZIXIR BMHE SHRI0) sl BE0] o= ZE =5
(B2 A 23 HE)

> EZFEH0 U2l =St =585
-?-I.J HESAZNIUIIXIE oIS

CIE = %12, F£E=E0| CIE U= AIE2AM2
I. | I- I-
procedure, SPSS complex )

SUDAAN, Strata, SAS survey
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2. JKS%| ojn|Q} HA

2) EE2II=X[2] AlAH S0 1Y)

o 7FSX| ALt Al 22{olOF e Al

2. BZECle| =25t BEXxl15(subgroup)0j CHst 2EH=(response rates) A=

3. EZ4J| IFoIM 22 E|X] i2 S Al A=Y Haeo] B F0 chet 2EH A=

13 /



2. 7t=%| 2|o]2f A&k

> ERIST9ISL BRE MNEZC| MUNYS B

Scto 2 olst fIEE (original sample) 12| 2RSS xF§17| ¢l 715
3 I(welghtmg class adjustment: WCA)ZS AH|AFSH0{ B

Ol

o BE|CIe| 22Lt 9l H|ES8H(non-coverage) ZF 2 2|8t AIZS 3} 715 %]

> ZR% o0|E X! SFH-0 Cfs REICe| 2xot EREZo| EFHE 51| 215
AZE3IZFH(PCA) 7IEXIE AASI0| YUY

o MMIISAUW =W, - W, - Wsyy

14 -



2. JKS%| ojn|Q} HA
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S=
T O

o A}

> F|E DE|CE 37| EA 2EIEF J7(2E2] XI0IE

> B JtSehu 2E|E 37(2}2] %102 BtF et I}
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HEHS
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2. 7t=%| 2|o]2f A&k

o Example : 275 MEHEIE 0| CHst 71=X]

o 240 7179 REICHM 671E FESMS AR0= F=FE2EE f =1/40
Ol epsem EECE MASH Zio=2 ZIEs5t1, F=E 71720A 1Ho|
Molg siciog2 FE5l= :H-.E%ﬂlg 7185101 FHOFE Z,8 v,
2548 E ZA6l= 8%

1

p(@p) = p@pBla) = (55) (5-) = 1/wa

0{71M B,E a7 F0lIM Mol

17 -



2. JKS%| ojn|Q} HA

=S %? W, (a8 sy M WA

1 2 80 7 1 560 80

2 1 40 9 1 360 40

3 3 120 6 0 720 0

4 2 80 8 1 640 80

5 3 120 4 0 480 0

6 4 160 3 0 480 0
Al 15 600 37 3 3,240 200

18



2. 7t=7| 2|Oje} A&

-BRHHPF: y=2=T o617
11045 JpR HIE: 7 =22 = 2= 05
« M FAX} £ ¢=N-Z=(6-40)-(15/6))-0.5=300

Y wg 600
= ZWaZa _ @ _
Fg0iF 71 HIE: 7, W = o0 = 0.333
< MR HYKE 1 1 = X w, 2z, = 200

19 /



2. JKS%| ojn|Q} HA

o Example : x2S ME{EIS0| ChEt 715 %] (2)
—

A2t SE2E 2510 S2f CIEAIZ 2 AsiCi

o L X|H=
714
> EAX|HL FEE 1/126.3 SEX|HL| F=EE 1/252.622 TA|X[HS 28 ZA ==

> MEREI J1F0IAM M2l 18S HEH2E FE610{ FHMFEE =AL

o JISu

1

> EAIXIY i p(ap) = p(@pBla) = (555) (5) = 1/wa

1

> SEXY : pap) = p(@pBla) = (555) (5) = 1/wa

20 —



2. JKS%| ojn|Q} HA

o 7IAXI=R
= EZIE Mox(B,) W, Z, Wz,

1 2 252.6 1 252.6

Al 2 2 252.6 1 252.6
3 1 126.3 0 0
1 4 1010.4 0 0

& 2 2 505.2 1 505.2
3 3 757.8 0 0

gl 2904.9 3 1010.4

. /



2. 7t=%| 2|o]2f A&k

© HYORHIE: r=22=2-05
63152 + 22734+
7y =2t 22723 — 3= 0406
NN, 2904.9

o MHAIFYRFL: T=N-Z=29049-05= 1352.45 .
[or = Z N7 = 63155 +22734-5 = 11788
> JEuE wgst =8 2o

. = = [ =1 —_ZWaZa_ 1014 _
FAR R I HIE: Z, = = Soes = 0348

o FH FYHXF: T =X W,z, = 10104

22 /



2. 7t=7| 2|Oje} A&

o H|2|7}=7} (Proportional weights)

- = HSI=E 01 A <7
o ZEEt SIS FFol7| floll E=EH2I2] MEREIE HE2 JISH

o

=1 ZH|E Y= floll E=CHe{2| MEHslS H0f Hlz|st
f 1

1

> EAMRIYFEE: pap) =p@p@Bla) =(==) () =£ )

126.3 Ba

> SEXLFEE: pap) =p@pBl0=(==) (+) =D 6

Bg

> JEs#: EAXIY = B, SEXIY = 2B,

23 -



2. 7t=%| 2|o]2f A&k

o JMdAIE : HIY IS

S EE2I &2l=(B,) W, Z, WZ,
1 2 2 1 2
ZA| 2 2 2 1 2
3 1 1 0 0
1 4 8 0 0
SE 2 2 4 1 4
3 3 6 0 0
el 23 3 8

N 0 HIE: 7y =% _ 5 _ 348

A FHX £ : T =Y 222 =38-1263 = 10104

24 /




2. JKS%| ojn|Q} HA

o EZ=3} 7k=3k (Standardized or Normalized weights)
o EEAJIAUX| (XWw,=n) SI=F 7|52 BEESIAZ 715

o HFE2}JtSUS Al

n

X Wq

Wa'=Wa-( )sothatZWa’=n

O : digivisarel Xt=0lAM 71580l 23012, E=3717t 60|22 EES} 71S5aS 0183617] #sH
6/232 &3510{ ALt

o REC S F£30l FEEoILI 28 i 2H|E FHUM= SLst
21 HS
/

25 o



2. 7t=%| 2|o]2f A&k

= B2l 428, W, W, Z, W' Z,
1 2 2 0.522 1 0.522
Al 2 2 2 0.522 1 0.522
3 1 1 0.261 0 0
1 4 8 2.087 0 0
S=E 2 2 4 1.043 1 1.043
3 3 6 1.565 0 0
Al 23 6.00 3 2.087
o W' 7o 2087
YOI W 6
26
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2. 7}

S| 2|0} A&t

o Example 522t B2 ¢|6 7[=3
o 0'|'- XS A2 Ss& Y S8 UE R 7126101 =3} CICHA|
o= MA|5104 9507[-?‘% MEH
> SBE(N)e ==E 1/100, G5(S)2] F==E 1/20022 SEX|H2 20 2AH =
>  EA(U)S] SEHE0| S&(R)2| SEIERL} %
> SEE23T|n,, ZALESTI| 2, , FALE CfE SETR L2 ) 0l2fa & uf, 2.2
HIS D35 JA LI J1HIS S =N 2HIE 71
o FSE EHZ flst 71=4

np
Wy = Wi - Wop, = Wiy, (n_’)
h

28



2. JKS%| ojn|Q} HA

S n, n n Win Won W W'y W,V
NU 100 70 60 100 1.43 143 10,010 8,580
NR 300 270 140 100 1.11 111 29,970 15,540
SuU 150 120 110 200 1.25 250 30,000 27,500
SR 400 380 120 200 1.05 210 79,800 44,100
ks 950 840 149,780 95,720

> JIA U I EA f i = YW, Vi= 95720

_ Xwyy, 95720
C Yw, n, 149,780

29 /

= 0.639

> NAHE IR HIEFE: v



2. JKS%| ojn|Q} HA

> EZ 7H= gt 2EIT 37| x10|F Bt IS

(2EEt 371) / (m237] S(=2FE 3712] =37

o IRt ALty Hao| DEICE FXQ} IS EE EX2}2| X0IS
ZZol= 715 @

30 -



2. JKS%| ojn|Q} HA

o JHAIKIZ :

22 BY ISR (W) =W, Wi, )

Tod
S n’, V'n W, Wyn', N, W, W W
NU 70 60 143 10,010 44,080 157.7 11,039 9,462
NR 270 140 111 29,970 122.4 33,048 17,136
SuU 120 110 250 30,000 107,930 245.7 29,484 27,027
SR 380 120 210 79,800 206.4 78,432 43,344
A 840 149,780 152,003 96,969
> BE[E IS #
Wiy = Gl = S = 1103 Wys = 2772 = 0,983

_IW,y, 96,969

> JIA U IR HIEFE: V= Swhn, 152,003 0638

31



2. JKS%| ojn|Q} HA

32 /



2. JKS%| ojn|Q} HA

o & B&0] 79 Hlxst &3 F=0AM dHlH|I2HE|E (disproportionate
allocation)0f 2|8t £&4!

0{7IM w), = R2ELHH|E, k,= h S 7IS#

A — n! wa): / Zn;lwﬁ
o AggEz L= (GG " i

o QEEEII neff=(EW" /ng) =n'/deff(L)

33 /



2. JKS%| ojn|Q} HA

o JHANIE : JHEUSE A YEO| 2

5 n, W' Xy W'y"n',
NU 70 157.7 11,039 1,740,850
NR 270 122.4 33,048 4,045,075
SuU 120 245.7 29,484 7,244,219
SR 380 206.4 79,432 16,188,365
A 840 153,003 29,218,509

2,
L=n! (B0 ) = 880 X (21050 sre) = 10623

negr = (529910 516500) =791=840/1.06226

34 /



2. JKS%| ojn|Q} HA

SEH 7170 AL ST Y Q8

o X|LIX|Al 37iLt =2 IE 7IS240] EXlsl= 3 St
Fd0l B2 &= 0[xA kI, a2 2lelf =2 £40] I3 A

\4
J

ISel "HEAIFIt St
2
Deff,, =1+ ("T_l)% =1+ cv?,

it

ChI7ISu2 EA

*

o= Zi0]| HIEHE|

35 o



2. JKS%| ojn|Q} HA

o Example : 2t 7152k Hek(1)

o JIAMXI=

W, Ja JWh Wi
1.00 500 500 500
1.25 240 300 375
1.50 160 240 360
2.00 130 260 520
3.00 100 300 900
5.00 25 125 625
10.00 45 450 4500
Al 1,200 2,175 7,780

L =n'(X,w2/(3;w;)?) = 1200- (7780/21752) = 1.974

36
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2. 7t=%| 2|o]2f A&k

re
O
-
1>
1]
2
0K
Ol
1%
=

3712] A&t

n—1\ sz
Deffw=1+( )_“;51+ch%

n w
> =Ll g W= = 2175700 = 18125
> ISe 24 V(w) = %2 fi(w, —w)? = 3.198
> kS "WEAs v, ="M/, = 0974
> =4l37] Deff, =1+ cv: =1+ 0974 = 1974

37 /



2. JKS%| ojn|Q} HA

o Example : 2t 7152k Hek(2)

o 7HAMXI=E

W, i Xz Xz
1.00 500 500 500
1.25 240 300 375
1.50 160 240 360
2.00 130 260 520
3.00 100 300 900
5.00 70(25) 350(125) 1,750(625)
10.00 45 450 4,500
Sy 1,200 1,950(2,175) 4,405(7,780)

L=n Z 2/(Z )2 = 1200- 4405 = 1.39
=n iwi iWL = Toc0z ) =

L* = 1200(7780/2175%) = 1.974

38 /



o Example : Stratified Cluster Sample Design

o Goal : Researcher want to know how much students spend weekly for ice cream, on
the average, and what percentage of students spend at least $10 weekly for ice
cream

o Population a junior high school with a total of 4000 students in grades 7,8 and 9

Grade Study Group Students Sample
7 608 1,824 8
8 252 1,025 3
9 403 1,151 5
total 617 4,000 16

o Sampling Design : Stratified Cluster Sample Design
> Stratification : Grade

> Cluster : Study Group (psu)
> Sampling Unit : Study Group
>

All students in each selected study group are interviewed

39 -



o Data : SAS file

data IceCreamStudy;

input Grade StudyGroup Spending @@;

if (Spending<10) then Group='less';

else Group='more';
datalines;
7347734774124927147 342923015927 157501292308
9230775013859207403474031185913859178 143128 143 16
859189235981431093128923569235119312107 32168 156 19
8156147 32137321127 4892748997781778107 48927 156 1
7786741267 15629 3018

data studygroups;
input grade _total_@@ ;
datalines;
7 608 8 252 9 403

data iceCreamStudy;
set IceCreamStudy;
if Grade=7 then prob=8/608; if Grade=7 then prob1=20/1824;
if Grade=8 then prob=3/252; if Grade=8 then prob1=9/1025;
if Grade=9 then prob=5/403; if Grade=9 then prob1=11/1151;
weight=1/prob; weight1=1/prob1;

run;

40




o Output : proc surveymeans

Weight weight;

run;

title 'Stratified Clustered Sample Design';

proc surveymeans data=lceCreamStudy total=StudyGroups;
strata Grade / list;
cluster studygroup;
var Spending Group;

The =STEYEYMEANSE Proceduare

Fumher-
Fhimbher
Fhimbher
wnm af

Class=s

Data Sunmmarsy

of Strata =
of Clusters 1656
of Obhservations 40
TWeizhts 21562 .6

Clas=s Lewel Information

Wariahle Lewels Walues=s

Gronp

= les=s more

41




o Output A|=: proc surveymeans

atratun Inforwation

atratun Population  Sampling
Inidex Grade Total Rate W 0Ohs  Variahle  Lewel N Clusters
1 7 R0a 1,328 20 Rpending 20 2
Group less 17 a8
finre 3 a3
Z 8 2h2 1,192 9  Epending g 3
Gronp less f 0
ore g 3
3 q 403 1,243 11 Rpending 11 h
Group less f 4
=n/N fore B 4
atatistics
ofd Error
Variahle  Lewel N Mean of Mean 95% CL for Mean
apending 40 9. 923360 0.650859  |¥.61776370 10, 3299565
Gronp less 23 0.561437 0.056368  |0.43966057 0.6832130
finre 17 0, 438563 0.056368  |0.31673698 05603394



o Output

proc surveymeans , Without psu

run;

title 'Stratified Clustered Sample Design';

proc surveymeans data=lceCreamStudy total=StudyGroups;
strata Grade / list;
[+cluster studygroup;*/
var Spending Group;
Weight weight;

stratum Information

stratum Foplation Zanpling
Indesz Grade Total Rate M Ohs WVariahle Lewvel M
1 T GO 20 spending 20
Gronp lezs 17
more 3
= a 252 a spending g
Gronp lezs 0
more g
3 9 403 = 11 spending 11
= Groip les= G
=St/ | more 5
=tatistics
=td Error

Wariahle Lewel M Mean of Mean 95% CL for Mean
Spending 40 8.9232860 0. 524566 T.86093915 9,93673103
Gronp less 23 0.561437 0. 053262 0.443383747 0.67948611
mare 17 0, 438563 0. 053262 0.32051389 0,55661253




4.1 J1xl U= s=F4H
=

H1X YU ESIEZALL] FEE2 19979 NZFEEWHITAN0]5 ZEX=AL0fl

AFSEIAE Z=AR?

19974 B XS] =ES2 1995U QUFFESTAIS| EZ AL AIS3HE HA 10%
ZMTE A

0F0

ZACH& A1 - 7CH }

Am
]

12

Ale} 87 =9 A|X|eio 2 H|st
E£237|: 1,000
157 A|=¥ HIE2 EEXAIL| EAIRLE 7|E22 H|g|H|E

ZSH2E A8 gSIE Zue} 1997H 1F XAl EAIXIQ." ZA 25 Hlad -

HESIH] 157 A= S7/EHF EE a2ad

>  HIE S0 MESYA|= 19959 10%EZEZAH0]| AlE st ZAES= 5,1867H2 19,025712]
27.3%0f siE=I=2=2 273747} =E|A2LE, 19974 ZAOIM M2L| EALE EAIRE
227710|22 227IE M29| #2112 2 _
44

“L|_|

IlI|0
mu
0

il
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AZAIIA THEX] 1A

A= M2 s CH=* pa gF CHE St a7l
AETAR 227 176 155 150 106 101 70 280
I ZAR 227 97 64 59 32 31 24 167

ZEMTPFES 4.3772 5.2689 5.2805 5.2867 5.2718 5.2365 5.2362 5.1511

A= a3 g5 sH M5 o a5 g 2HAl
AETA 165 159 122 170 152 129 220 2,382
S EA 26 22 25 40 25 54 58 951

ZEMTPFES 5.1587 5.2133 5.1230 5.2840 5.1335 5.2889 5.3016 4.9987

o FEE E2ZMAL ZALHAIIE ME 2 HI| SHRHME ZAE 6717,
7|[EFX|H0IME =AIE 57171E HESH *._é
. HA2C 10%ERZAIT E= £EE(%)
= EAR o EAR NFE IR RS EMR RS
M3 AR 190,250 11,100,320 19,025 1,110,032 951 5,000 0.4999 0.0450
Alg| S8 173,530 10,098,910 17,353 1,009,891 871 4,582 0.5039 0.0454
Aol S8 16,720 1,001,410 1,672 100,141 80 418 0.04785 0.0417

/



2 ZEALOIM THSA 71IM

4.2 1A U= J1SA] Al

o EEMA IISH|
AN 1XPA=e| A 19954 QIFRFEUEZTAIC] 10% E=ZAI0AM 19974
DEXALS| FARE £&. SHRIE MRl SS & 4 gO0= [i3n 22
S0 SEEHES AY
> ASY ZAIZARR FEEE  ASE A ZAT S SAZAIR HHISE A&

> EAEAT S BEEZAR F2EE  TAZAT & EEZAIO| HIZ AlM

> A=Y ESXARL| F=ES2 ol2lier Zo] At
- 7CH SEAHA| : 0.1+(GHS Al2] E2 EAFS/SHE Al2] A EAT)
- o S8 :0.1+(GlE £ S5 EE ZA /Y & S5 Al =ARS)

HE 2 ZA/OlEY £2| Alof] &8 SHE

mo

- Eo| Alofl &t M 1 0.1+(GHE =2| Ao &
HH ZAIS)
o AZEEIIT ZEHE: (5 HE JIFS/97 1

ZAMALE M AT R)

SEIIREF) < (97 IESEIIRS/

JIIII

46



4. =SIHEEAOM 7H=S%] 71|M

4.2 M A A= TSR] Al
o PSE HH IIEK

KILPSOIM A= 2 22EXIQ}
SSEIITE SEHIITZ X017} 2ICHE JIHSIHM SHES AN

SHEAIe] Sd0| ZCl= 7HFd S shAl 221, ALY

> ZATL RSEEY JIEX : & S JTL/HS ZTAREE 7S

- 70l SZHAL  1/[{0.1+(GHS Al2] E2 ZAS/61S Al2| HA| ZALS) (97 XA/

ZARU A 71E) (& JEIRS/97 DEZAPIRS) (RS ZARJIZIIPS/E BHII7S))

- E9| S8 1 1/[{0.1+(3lE = S5 E2 ZAF/E £ S5 Ml ZARS) +(97 DEZAI T/
E *(E|E =ARIRIS/E KIS}

ZARELE HA 715) «(E BEISF/97 DEEAPDSF)

2 EAPL/EE 22| Alol &8 SEE M

- o] Alof| &t SHE 1 1/[{0.1+(GHE =2 Alo]] £& SHE &
ZATE) « (97 AEZAP IR F/ZAIR W HA| 71715) (& BFI5/97 A8ZAIIF)

(ZIE SARIZRIIFF/E BRI

47



1 i E

-

19980 ZAIE A% st=

SEILEZALE 20084 11XI7EX] ZASHRMA A& SEH6t
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